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QUESTION 1
Exhibit.
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You need to configure the SnapCenter Plug-in for VMware vSphere to back up and restore VMware datastores.
Referring to the exhibit, which additional LIF type should you create before you configure the plug-in?

A. intercluster

B. node management
C. SVM management
D. cluster management

Correct Answer: C

QUESTION 2

After completing the configuration of a new Brocade Fibre Channel switch, which command do you use to verify your
configuration?

A. switchshow
B. show config
C. configshow
D. cfgshow

Correct Answer: C

QUESTION 3

You are asked to separate production FC traffic from test development FC traffic. In this scenario, at a minimum, which
two configurations would accomplish this task? (choose two)

A. VLANs
B. Shared igroup

C. SVMs
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D. Cisco VSANs
Correct Answer: CD

SVMs will help us to separate traffic creating production_LIFs and development_LIFs VLANs will not affect anything,
because it is asking about FC traffic Cisco VSans will help us to create separate virtual SANs within the same switch.

QUESTION 4

While changing the network connections on your ONTAP cluster from twinax to fiber, the ports experience network
connectivity issues. You want to verify which speeds the ports support and ensure that you have supported
transceivers. In this scenario which two actions would accomplish this task (choose two)

A. Use hardware universe to determine the supported transceivers

B. Use the interoperability matrix tool to determine the supported port speeds

C. Use hardware universe to determine the supported port speeds

D. Use the interoperability matrix tool to determine the supported transceivers

Correct Answer: AC

Hardware universe will show information about port speeds and transceiver compatbility You can find more information
on this link: https://hwu.netapp.com/Resources/hwu_ug.pdf (page 73)

QUESTION 5

The ESX host reports inconsistent performance for iISCSI-based connectivity. In this scenario, what would cause this
problem?

A. The host and storage are connected to different switches.
B. The flow control was disabled on the storage.

C. The hardware initiators were used instead of software.

D. The flow control is enabled on the storage.

Correct Answer: B
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